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Jak; Ll 0.021] 0.046 0 of O 0.018] 0.031| 0.110 22 0f x| 0.006| 0.014 ofO|O
rE 0.027| 0.057 5 0f O| 0.051| 0.148 31 291 x x [ x| 0.022| 0.037| 0.131 43 2 x| 0.009| 0.022 ofOo|O 0.8 2.0 010| O
E=2id 0.027] 0.059 7 0[ O] 0.056] 0.172 39 38 x x [ x| 0.016] 0.027] 0.121 23 1] x
[s5HE] X% 0.025| 0.053 29 0 0.052] 0.162 250 242 0.020| 0.033] 0.112 302 5 0.007] 0.017 0 0 0.42| 1.68 214
B (BABH 0.038) 0.071 24 17{ x | 0.070| 0.200 58 58] X x | x 0.014] 0.033 11O x 0000 0.63] 2.90 280
[&5HE] X 0.038) 0.071 24 17 0.070] 0.200 58 58 0.014] 0.033 1 0 0.63[ 2.90 280
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RIBEEFERRR (TLV=FH)

$9R9 - 19904
—BItER EERTRYE FEFEAELH b —BIthE —BlERE BINET KA 5 FAB KR
REE | HED H¥H
i #OE| - ¢ o
EE25) - B | #i8EE | 0. 10 _ 2E8 | 2o B _ - - B |35.0 D3
Ay ma |S28 @ s |mies | ot | |2 | =m0 | R geme | 1B | Tap | m ma | K2 B¥SH &5 s | e | ook | & | 5 | 6~0m | 079 sy
B B4 | 0. o6pp | FHE| 15 B Song | 2 E | faxr | 2| 2| Tmn | B85 | e | B | s | B4 o ogpp | 4 | #2 Bty fEAS | 4 fE (35,00 |@xr |2 |1 | 1zs | P | TEs
& AR | ToE 'ng e | B | | FaiE|Eo | T < ani |89 8| oom | 1B | i |0.06pp | (00| 5 | sl | a2 | - 6P | v | e (sl | ad2% | Toppm | 80 | 80 | aafl | oo | N K VRS R B | s e | MR [ 5]
2 HIo8% | mER | 6o |2 Bashil | [MOE (BN BA2 | o | o |TEDF | |EDR | gy | 0. 120p | 2 Bovis | "ER (=) BoME| 218 || = f08% (g/m3% | BMOD | &K | & | BEF |y e (0. 310D
fiE |x#%=H nE i # BZx1=[0.10mg| AL i@ | @ HiE il =1 27-H melE | # Z1-8 i@ | @ A% | & | @ fiE |[BAf|HA%E | %% HiE =iE mC% 2
w |155 B | /m% [@E&L & a o |oE% % = EE MR BE | z-8
& iﬁi#;: :;(’_’ (:;617 8
=E: D EE AEE
ppm ppm B =] mg/m3 | mg/m3 B =] ES ppm ppm ppm B =] ppm ppm B ppm ppm B pg/m3| peg/m3| H % (ppmC) | (ppmC) | (B)
—#% [ S Lo FE&AT 0.029( 0.059 6 0| O| 0.057[ 0.179 40 40 X x [ x| 0.023] 0.042| 0.150 66 8| x| 0.009( 0.021 0O O 0.9 2.9 0] O[O 0.38 2.38 156
Eich=d 0.028( 0.062 9 2| x| 0.056( 0.200 35 35 X x [ x| 0.024] 0.041| 0.163 45 2| x| 0.007( 0.017 0lO|O 0.9 3.1 0O O
Enis 0.026( 0.058 5 0| O| 0.051| 0.151 32 31 X x [ x| 0.027] 0.049( 0.187 82 14 x [ 0.007| 0.016 0O O 0.8 2.4 0] O[O
aR 0.030( 0.057 3 0| O| 0.050( 0.159 27 26 X x [ x| 0.022] 0.042| 0.170 55 6] x| 0.007( 0.017 0O O 0.51 2.80 266
58 0.025( 0.055 4 0| O| 0.048( 0.177 30 29 X x [ x| 0.024] 0.042| 0.164 52 6] x| 0.006( 0.015 0O O
R 0.022( 0.047 0 0l O| 0.041| 0.135 20 19 X x [ x| 0.025| 0.045| 0.142 64 6] x| 0.006( 0.014 0O O 0.7 2.0 0 0.46 1.80 214
bax:!l 0.022( 0.049 0 0| O| 0.060( 0.194 47 47 X x [ x| 0.025] 0.045 0.179 61 5] x| 0.006( 0.015 0O O
RE 0.029( 0.057 5 0| O| 0.049( 0.149 31 31 X x [ x| 0.022| 0.040( 0.146 49 3| x| 0.008( 0.020 0lO|O 0.8 2.2 0O O
b=2:] 0.028| 0.058 6 0] O| 0.054] 0.179 37 37 X x| x| 0.016] 0.028] 0.109 15 0| x
[5£5HE] X 0.027( 0.056 38 2 0.052| 0.169 299 295 0.023| 0.042| 0.157 489 50 0.007 0.017 0 2.5 0 0.45 2.33 212
B (B ABH 0.038| 0.070 22 15[ x [ 0.070] 0.208 59 59 X x| x 0.014f 0.030 0lO[O 3.6 0] O[O 0. 69 3.82 257
[&&H1E] X 0.038[ 0.070 22 15 0.070( 0.208 59 59 0.014[ 0.030 0 3.6 0 0.69 3.82 257
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